C:# Division von ganzen Zahlen

Name:
L 0se jede Aufgabe. Antworten
1) 32.9= 2) 922:.9=
1
2.
3.
3 188:2= 4) 840:6 = 4,
5.
6.
7.
5 397:9= 6) 546:6 =
8.
9.
10.
7) 94:2 = 8 233.9=
- 11.
12.
9 61:7= 10) 24:7 =
11) 80:2= 12) 48:2=
1-10 | 9283 75|67 [58[50] 4233|2517 |
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=

Division von ganzen Zahlen Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 3229= 3715 2) 922.9= 102r4 315
- 1.
2 102r4
3. 94
3 188:2= 94 4) 840:6=_ 140 4 140
5. 4471
6 91
7 47
5 397:9= 44r1 6) 546:6= 91
8. 25r8
9. 8r5
10. 3r3
) 942= 47 8 2339= 2518 40
— 11.
12. 24
9 61.7= 815 10) 24:7= 313
11) 80:2= 40 12) 48:2=_ 24
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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